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1 |deiEE 1.3E+3 1,302.6
2 |EHR 5.5E+2 551.7
3 |EFR 3.9E+2 3926
4 |EHE 4.8E+2 4779
5 |MHEER 3.8E+2 375.8
6 |LEE 2.9E+2 2931
7 |EER 8.1E+2 8135
8 |ZWE 1.0E+3 1,028.1
9 |HARE 7.3E+2 734.2
10 |BHER 7.3E+2 7286
11 [BHEE 1.6E+3 1,626.9
12 |FER 1.3E+3 1,286.9
13 |BRREER 2.0E+3 1,966.9
14 [#ENE 1.5E+3 1,485.4
15 |(#iBg 8.0E+2 799.3
16 [EWLE 4.2E+2 416.7
17 [BINE 3.9E+2 389.7
18 |BHE 4.0E+2 396.0
19 |ILBE 2.9E+2 287.0
20 |RHR 7.0E+2 699.7
21 |IRBR 7.7E+2 775.0
22 |BRER 1.7E+3 1,664.1
23 |BHER 2.1E+3 21418
24 |ZER 6.6E+2 657.8
25 |HER 4.0E+2 400.2
26 |FRERAT 6.5E+2 653.6
27 | KBRFF 2.0E+3 2,047.6
28 |EER 1.5E+3 1,530.0
29 |RRE 2.6E+2 258.6
30 |FnERILE 3.0E+2 303.2
31 |BmE 2.1E+2 214.4
32 |BRE 1.9E+2 194.0
33 |RILE 7.8E+2 775.6
34 |[LER 1.1E+3 1,097.4
35 |WOg 71E+2 710.9
36 |EER 2.4E+2 2432
37 |FNE 41E+2 413.2
38 |EBRR 6.4E+2 635.3
39 |=HE 2.5E+2 2461
40 |fER2 1.1E+3 1,147.9
41 [EEBR 2.7E+2 269.6
42 |RIBE 3.4E+2 340.0
43 |EEXRE 4.2E+2 416.4
44 | K7 R 3.9E+2 392.0
45 |EIFE 3.5E+2 346.3
46 |BRIEBE 4 3E+2 4311
47 iR 3.0E+2 304.7

£EH 3.5E+4 34,662.5
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